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PART - I (977 -1)
MENTAL ABILITY TEST

Sifes draar ger

Questions : 1 to 50

Direction : (Q. No. 1 to 7) 391« (997 o 1 @ 779%)
Select the right alternative which will JGA F [T BT TS AT B ghag/
complote the series.
1. -np -l-prl-pr-n- 1. -np -l-prl-pr-n-
(1) Inilnlr () Inln Ir
(2) Irnnlip (2) lrnnlp
@) plpprn @) plpprn
) plpiny ' @ plpInr
2. X-yyz-xzy-zx-2Y-2X - 2. X-yyz-xzy-2X-2y-2X-
(1) zxyxyx (1) zxyxyx
(2) zyxyxz (2) zyxyxz
(3) yxzxyy (3) yxzxyy
(4) yzyxxx (4) yzyxxx
3. QKF,?, KGD, HEC 3. QKF, ?, KGD, HEC
() LHE (1) LHE
(2) NHF . (2) NHF
(3) MHG (8 MHG
(4 NIE (49 NIE
4. EVFUHSIR KPLO,? ‘ 4. EVFU HSIR KPLO,?
() MNNM ' (1) MNNM
(2 LOMN (2 LOMN
(3 NMOL (3 NMOL
4 NSOR 4) NSOR
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A (4)

5. 5. ?
(1) @)
S AYA @ @ ()
® | @
6. 95,172 52,92, 21, 10 6. 95,72, 52,7 21,10
(1) 29 ‘ (1) 29
(2) 32 (2) 32
(3) 35 (3) 35
(4) 38 - (4) 38
7. 17,15, 82, 67, 138, ? 7. 17,15, 32, 67, 138,7
(1) 257 ( (1) 257
(2) 263 (2) 263
(3) 279 " (3) 279
(4) 281 ; (4) 281
8. IfC=3and DOG = 26, then TIGER =? 8. I C=3 3R DOG =26, WTIGER =?
(1) 43 | L (1) 43
(2) 48 ' 2) 48
(3) 57 (3) 57
(@) 59 @ 59
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9. In a row Ravi is 8th from the right,

10.

11.

12.

Mohan's place is 7th from the left side
and Anil is sitting in between the two.
Find the minimum number of boys
sitting in the row.

(n 12
@. 14
3) 15
@) 16

From the given alternatives find the

word which cannot be formed by

using the letter of the given word :
EXPERIENCE

(1) EXPIRE

(2) RIPEN

@) EXPERT

(49) PRINCE

From the given alternatives find the

word which can be formed by using

the letters of the given word :
INTELLIGENCE

(1) CENTRE

(2) GENTLE

3) CANCEL

4) LEGAL

If in a certain code language '"HORSE!
is written as 'JMTQG', how would
'POWER’ be coded-in the same code ?

() QPXFS
2 NQUGQ
3 RMZDS
4 RMYCT
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10.

11.

12,

@ W F A o d oY
W, AE ar AR A A ®H ) aa
H5T  B dw ¥ R ¥ GRp ¥ oy
A 5 w3 R 5 2

(1) 12

(2). 14

3) 15

4) 16

Ry m et & § o9 a2 @

PR Re 10 9= 3 sni & wan

TET FET S G |
EXPERIENCE

(1) EXPIRE

(2) RIPEN

(3 EXPERT

(4) PRINCE

e m Reedt ¥ & sy 9= @ gea
Rl R 0 o= & orrdt & v ¢
AT S GEHaT B
INTELLIGENCE

(1) CENTRE

(2) GENTLE

(3) CANCEL

4 LEGAL

aie B gz W ¥ 'HORSE' &
IMTQG Rrar irw 2, &t ot g2 s
¥ 'POWER' P o R s ?
(1) QPXFS '
(2 NQUGQ

3 RMZDS

(4) RMYCT

P.T.O.
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9. In a row Ravi is 8th from the right,

10,

11.

12.

Mohan's place is 7th from the left side
and Anil is sitting in between the two.
Find the minimum number of boys
sitting in the row.

(1) 12

@ 14
@3) 15
4) 16

From the given alternatives find the

word which cannot be formed by

using the letter of the given word :
EXPERIENCE

(1) EXPIRE

(2) RIPEN

3 EXPERT

(49) PRINCE

From the given alternatives find the

word which can be formed by using

the letters of the given word :
INTELLIGENCE

(1) CENTRE

(2) GENTLE

3 CANCEL

4 LEGAL

If in a certain code language '"HORSE'

is written as 'JMTQG', how would -

'POWER' be coded: in the same code ?
(1) QPXFS

(2 NQUGQ

3) RM ZDS

(49 RMYCT
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(5)

10.

11.

12,

@ W5 T e K @ et
W, W Al A A W @F W q
AT AT D M A R Y R T g
@ 5 a2 8 2

a 12

(2) 14

®3) 15

4 16

ﬁqmz&ﬁﬂﬁ'aaﬂwa%tﬁm

Rt R 10 9/ 3 ottt o iy 3¢

TET A A T |
EXPERIENCE

(1) EXPIRE

(2 RIPEN

(3 EXPERT

(4) PRINCE

Ru m Reedt § & o9 9= @ goa
Fré Re 10 o= 3 ol & wam o
AN S GFEAT B

INTELLIGENCE
(1) CENTRE
(2) GENTLE
3 CANCEL
4 LEGAL

gk Bl %z ww ¥ 'HORSE' =t
IMTQG' frar i 8, @t o gz sy
¥ 'POWER' a0 W forar s ?
(1) QPXFS '
(2 NQUGQ

3 RMZDS

(4 RMYCT

x 1155 .

P.T.O.
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A
Direction : (Q. No. 13 & 14)

These questions are based on the following
information : ’

Sachin walks 12 km towards East and turns
to his right and walks 8 km. Then he again
took right turn and walks 6 km.

[
13. How far is Sachin from the staning
point ?
(1) 6km
%7 . (2) 8km
' (3) 10 km
(4) 12km

14. In which direction is Sachin going at

the end ?

(1) East (2) West

(3) North (4) South
Direction : (Q. No. 15 & 16)

These questions are based on the following
information :

Five girls are sitting in a circle facing to the
centre. Seema is sitting immediately to the left
of Veena. Anjali is sitting between Dipti and
Veena. Babita is sitting to the right of Dipti.

15. Who is sitting between Babita and
Anjali ?
(1) None
(2) Seema
(3) Veena
(4) Dipti

NTSE(Level-1) Exam. Nov. - 2015

(6)

frér : (999 Ho 13 T 14)
3 gov Freifia g 9¢ Sk &

g @ # e 12 BBl i @ sl @
At geat 8 el Twar 31 @ R Al el
ggar & oiX 6 f5. . T ¥

13. §fM omd yrfwE @E 8 R @
g7
1 6fF. 4.
(2) 8f&. ft.
3) 10f%. 4.
(4) 12%%. .

oM oim § fp Rem & ofit s @
g ?

(1) & (2) uf¥=d

(8) TX (4) afEror

fér : (9% "o 15 TE 16)

14.

3 ge7 Rt g 9¢ STeaIRa &

9 @i 0 g9 § 3% F SR g8 w92l
g1 A, 9 3 3w sl ol ¥ ¥ Sfow
¥ ¢ ARG ot A @ dm F R ¥
dftg & ardi AN

ap

15. afdar o ofvel & & ¥ @W ¥
g ? _
(1) FE 7 ' )
2 q |
(3) 4
4 afg



A
Direction : (Q. No. 19 & 20)

Study the trend of the numbers and find the

missing number from the given alternatives.

19. 1 12 7 11
10 | 6 14
8 17 ?
(1 3 (2 4
® 5 @ 6
20. | 3 4 36
4 6 96
6 ? 252
) 3
@ 5
® 6
@ 17

21. Suresh and Kailash are brothers.
Rajani and Shubhra are sisters.
Suresh's son is Shubhra's brother.
How is Kailash related to Rajani ?

(1) Father
(2) Uncle

(3) Brother
(4) Nephew

NTSE(Level-1) Exam. Nov. - 2015

(8)

X2

& : (957 do 19 wd 20)
a@st # Hgh @ oreEET #g et Ry
Rt & & ga qer s Hog

19. 1 12 7 n
10 | 6 14
8 17 ?
(1 3 2 4
3) 5 4) 6
20. | 3 4 36
4 6 96
6 ? 252
@ 3
@ 5
®) 6
@ 7

21, G AR Fanw W ¥ wEH S YA
s ¥ QR @ g gA H AR Bl
ST T OH QT T & 7

. (1) Rar
(2) =T

(3) W=
(4) sl



22. In the figure given below which

23.

24.

number represents Honest and
Hardworking Youths ?
t
Hones | Hard
working

7
®) 5

2 6
(4 4

In the following equation, two signs
need to be interchanged to make it
correct. Choose these signs from the
given alternatives.

36+6x10+5-2=63
(1) +and -
(2) +and~=
(3) xand +

(4) —and x
If '+ means 'x, '~ means '+, 'x'
means -, and '+' means '+, then
16 +56—-4x2+2=7
(1) 14
(2) 22
3) 26
(4) 72

NTSE(Level-1) Exam. Nov. — 2015

(9)

23.

24,

139
4 6
g" E1 2 77 3 "qf’tarrﬁ;
M 7 (2) 6
(3) 5 (4) 4

e wieR ) wé 3@ 3 Rig @
et # oRa-9ad B AEEHA
g1 Ry T el § @ @ R @

g |
36+6x10+5-2=63
1) +ef-
@) +9R+
3 xR+
(4) —3qTx’
AR e R xR,
oo B AR et R A
16+56—4x2+2=72
(1) 14
@ 22
(3) 26

(4) 72



25.

26.

Atul is younger than Rajesh but elder
than Jagan and Suman who is elder
than Shyam. Priyanka is elder than
Avinash but younger than Shyam.
Who is the eldest and youdgest of all
respectively ?

(1). Rajesh - Avinash
(2) Atul - Avinash
(8) Rajesh - Priyanka

(4) Atul - Suman

Identify the diagram that best
represents the relationship among
classes given below :

Guava, Mango, Fruits

» OO0
®©)°

®
(4)‘:I:>

NTSE(Level-1) Exam. Nov, - 2015
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26.

(2) ¥ge - e
@) T - R
(4 g - g

& SRE g S A R

™o B
99 =Y T g8 e Har



Direction : (Q. No. 27 & 28)

Take the given statements as true and decide
which of the conclusions logically follows
from the statement :

27. Statements :

1. All tables are chairs.

2. No chair is a pen.

Conclusion : I. No table is a pen.
I1. Some tables are pens.
II1. All pens are tables.

(1) Only conclusion I follow

(2) Conclusions I and III follow

(3) Conclusions II and IIT follow

(4) Conclusions I, IT and III all follow

28. Statements :
L. A penis equal to Pencil.
II. Pencil is longer than Book.

III. Book and Pen are not greater
than or equal to Rubber.

IV. Bag can contain Book.

Which of the following inference is
correct ?

(1) Bag may or may not contain
Rubber.

(2) Pen is not longer than Bogk.
(3) Pencil is equal to Rubber.,
(4) Pencil is greater than Rubber.

NTSE(Level-1) Exam. N ov, - 2015
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&

A
@9 : (957 Ho 27 ©d 28)

/?UWW%?WW%%W#
Wﬁ%@ﬁw#mw#ﬁm
g

27. FYT :

L@t B gffi ¥

2. H¢ R wom g Py

Fresd : 1. 3% 9 & 5o =6 2
1. %8 85 a7 ¥
L 7 o 3F ¥

(D) 3 frepd 1 Praerar @

(2) frd 1ol 1 e &

@) = 11 ol 11 P &

(@) Bt 1 11 &R 10 |l Py ¥

28. e :
I %9 ol Yaa o ¥
1L e gwrs @ =t 3

1. &% iR &0 @ @ 92 a1 &
T 2

V. 8 & qei et or wadt B

Frfifed & & fma freod g
g7

W & ¥ @ @ A 9 @ o
AT B

(2) FW, &% & T 78 B
(8) ¥aw W 3 §uE 2
(4) UFET W @ o9 B

P.T.O.



29. Select the answer figure which is

exactly the mirror image of question
figure when mirror is held at xy.

Question Figure :

(1

2)

(3

4)

30. Choose the correct answer figure to

NECK

N3O

N3CH

A03dU

HO3N

L IIRTRRTERS %

complete the given matrix.

CD/N

1

'\w/

? A

AN ”/ &
A

NTSE(Level-1) Exam. Nov. - 2015
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29. mmmiﬁgﬁn
F e 0w g,

o7 feg &
97 Fh -

997 I
e T xy @0

NECK

® INFONA
@ |N3CH
@ AOIN
@ INO3N

30. 3IM I AR F g
B QT H

SCERTTITRRET >

ot & T A

O
A

PN
S%? @




31.

32,

=
S

How many triangles are there in the
following figure ?

¢

(4) 25 or more

(1) 15
(2) 20

(3) 24

Among the four answer figures, which
one can be formed from the cut out
pieces given below in the Question
Figure ?

Question Figure :

DS

NTSE(Level-1) Exam. Nov. - 2015
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32.

31 A & T ol F e B ¥ 7

A

(1) 15
2 20

(3) 24

4) 2571 iy

(1) 2)

@) - 4




33. Which answer figure will complete
the pattern in the Question Figure ?

| / @t 7,

@ r 1 @ +

34. TFrom the given answer figures, select
the one in which the Question Figure
is hidden/ embedded :

Question Figure :

'

(H (2

€)] €Y

NTSE(Level-1) Exam. Nov. - 2015
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33. HA-H I o 9 oM B wirey

34,

A g w7
4
|
\ -
(1) [ // 2
/l
@) r | @

-

& T I ongladl § A T gl A
g, Frad wew ol fdafka @

g7 gl -

"Y'

89

. K

(2)

g




Direction : (Q. No. 35 to 41)

Select the related letters/number/ figure
from the given alternatives :

35. GJMP : FHJL : FILO : ?
(1) EGKI
(2) EGIK
(3) GEIK
(4) GEKI

36. JHFC:bGgK:: ?: tWvyY
(1) ZVvUs
(2 XUVW
3 XuvrT

4 XWVU

~>

37. PALE : LEAP :: POSH : 7
(1) OPHS
(2) SHPO
(3) SHOP
(4) HSPO .

38. 508:621 z:?:470.
) 357

@ 367

3 375

4) 402

—

NTSE(Level-1) Exam. Nov. — 2015

(15)

A

Fésr : (a5 do 35 & 41 %) .
@WW##WW/H‘W/M@%
g

35. GJMP: FHJL :: FILO : ?
(1) EGKI
(2) EGIK
(8) GEIK
(4) GEKI

36. JHFC:bGgK :: ?: tWvY
() ZVUS
(2) XUVW
8 XUVT

4) XWVU

37. PALE: LEAP :: POSH :"
(1) OPHS
(2) SHPO
(3) SHOP
(4) HSPO .

38. 508:621:?: 470.
) 357 |

@ s67

(3) 375,

(@) 402"

P.T.O.



39. 17:136:7:152
(1) 18
(2) 19
(3) 21

@ 238«

40. 343:7:729:7
(1) 6
2) 8
3) 9

(4) 13

41. A&A&A&%q

o oO(D
@ B
Q
@
® QO
D
O
8
4) e,
::ﬂ
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39.

40.

41.

17:136::?2: 152

(1) 18
(2) 19
(3) 21

(4) 23

343:7
(1) 6
(2) 8
3 9

(4) 13

A LnanAF

(&Y

(2)

3

(4)

729 : 7

O
@:"
O

e
O
S

@0oe o8 0B



Direction : (Q. No. 42 to 48)

Select the one which is different from other

three.

42,

43.

44.

45.

46.

NTSE(I;evel-l) Exam. Nov. - 2015

ey
@
3
4

(1)
(2)
3
4

(1)
(2)
3
@

1)
2
3
4)

(6Y)
(2)
(3
C))

FLHD
JPLH
PWRN

BCYX
GHTS
NOQP
VUEF

ANBO
1ZJY
ERFS
HUIV

43
53
63

73

9-16

21-30
35-44
47-56

(17)

[ - (997 Ho 42 ¥ 48 T%)
7 ghAT @ o T & Frr &

42,

43.

44,

45.

46.

&Y
(2
3
4)

(€Y
)
3
4

¢V
2
(3
4)

¢}

2)
(3)
4

(1
@
3
4)

FLHD
JPLH

PWRN
SYUQ

BCYX
GHTS
NOQP
VUEF

ANBO
1ZJY
ERFS

43
53
63
73

9-16

21-30
35-44
47-56

P.T.O.



A (18)

47. (1) 25-125 47. (1) 25-125
(2) 49-343 (2) 49-343
@) 9-27 (3) 9-27
(4) 36-226 (4) 36-226

8. M]_"y @ gN\S 48. (1) \/\q @ ygN\S
@ % @ $ ® % @ \F’

49. Amit is elder by 3 years to Rahul. 49. wfyg omg ® WgT @ 3 W &1 B 10
After 10 years Amit will be thrice his g4 9 Sfha Fr g St aduE
present age and Rahul will be six F Rl o Tgd # g STl FdnE
time of his present age. How old is g @ B T AR UEH B I |
Rahul? g7
(1) 5 years ) 5 ad
(2) 4years \ @2 43¢
(3) 3 years } (3) 3 a4

(4) 2years | @) 2 ad

50. Which number is wrong in the given 50, F-8 de & © YEa ¥ 777 ¢ 7

series ?
3, 12, 24, 96, 190, 768, 1536 3, 12, 24, 96, 190, 768, 1536
(1) 24 (1) 24
(2 96 ‘ (2) 96 ”
(3 190 | @3) 190
(4) 768 (4) 768

NTSE(Level-1) Exam. Nov. - 2016



(19) A
7 : MR, e 3 g 1 3 Fim 10 § 97 1 ey srasy qY |
—_— ————— e
PART - II (9T - 1)

LANGUAGE TEST
AT GR&7oT
Questions : 51 to 100 (W W)

\ .
fdsr : (a7 do 51 A 53 7%) 39 : (357 do 54 W 55) ’
Re 1 a=t ar o= wgEt 7 2 3@ gy o T e @ 7 g #7T T B
J& = w7 qafE @a@ o qaar 8

. 54. (1) TEIYTG
51. orfea
(2) qgaUa
(1) 328 9 gayr ar
: ; .
(2) rgaRd ®
@ o (4) TR
(4) @ gd 55. (1) sfgedf
52. e @) e
(1) ST
(3) swisdfE
2 A
@ g (4) srsAfE
4) TfE
@ 56. @if¥ 9EHY & ¥ 1 A9 By
53. arcareRs 9 A 9e% A9ET SR 3% @ 9
(1) €EfEa #7 9z (1) Brar qedy
(@) THFRER & (2) W ey
(3) A7 AT ufear (3) fashyor ey
(4) T 8 (4) Pemfagmor gedy

NTSE(Level-1) Exam. Nov. — 2015 : P.T.O.



A

57. g o= ¥ v yom 7R 7
(1) S (2) fere
(3) g (4) gea
f@er : (vs9 do 58 TF 59)

Freifaitée TErsT 7 g a T@ 81 G ot
TETgar F 417 (@a g qaew qel REd
&7 ¥ gt Iy w7 F

58. () M B Ak ¥ gF F g A
Tét |
(H) wvvvreieeeneeneiiisseseaeneeseeeneannnns
(iii) SEH M-I H o B K
daR & ¥ 7 7 |
(1) =z w1 ded et §
(2) I B R F AE A A 8

(3) ari @ fenfewee qa@ w9 He il
R

(4 aﬁms’fﬁm%%l.

59.
I qY @Y st 3 9E o)

G een.. .. V..............
(i) 12 de H gIA @ W oA @
P T F T |

(1) FE Fe F A0 G W oA @
Hg R |

©) T EH @ A QDS FW
FH TI-TIHT |

- (3) & T N B TR B @l

(@) FE @I W W A QA PR A
Pt feal |

NTSE(Level-1) Exam. Nov. - 2015

() == R REEl @ wEE SR e

(20)

60.

61.

62.

63.

& I T BT
(1) @it 3l g & 921 g4 2|

(2) afe X sfe & AT dY B
3) @t 3K siew o1 fene g6y 2
(4) afed 3K siga & afys §dq B

‘g o= F FE avf e &
(1) B+ T+ + A+ + &
(2) B+ +I+E+HA+T+H
@B B+ T+T+ A+ +H

@) B+ T+ A+F+F+A+T+ A

Prfafa & & ge= aof & o9 ¥
(1 .
@ @
® T

4) 9

@i A9 § o9 Ay ff fg o &
fore g drifE ®

(1) 8 # fia s H A
@) S gEE FiE A
(3) TH A Hxa T AW T
(4) IR-AX AW ¢




64.

65.

66.

67.

EF = F Gl R dnm
(1) 3R + gag
(2 IR + FF
3 GWT+—§RL
(4) U + IFg

fha o= & o Suwt 78R 2
(1) wfy

) 9

(3) uataRor

(4) wft==t

‘THH AR F AT A, aF A O R
B0 ot B

(1) @& 74 &
2) 38 ofr &
(3) a® STEFT B
4) w2

Wik @ & fw ad Rem @ T
FHT

AT § AT 2 |
(1) gTEar
(2) S
(3) WY
(@) g
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68.

69.

70.

W 9= § Pe-ar | D ?

(1) gy
@ ==

(3) Fay

(9 SrFdEg

T ¥ % I ey ¥ am w=
2 _

(1) TS
(2) THies
(3) Twlfe®
(4) TS

T RT W oa @ afE s i

TR

@ TR @ P -G fe qmm
F 2

(i) 30 I A B 7 FS 9@ B

2

(i) ol o P dmw g
YFRET &

(iv) TG 9% 3 7@ w9 ey
o %7 v & ¥

V) g3 B Tt B a9 WA 72 w59
WI<T B aar B

(-4, i, ii, v, iv
(2) i, iv, v, i, iii
(3 i, i, iii, v, iv

@ v, ili, i, i, iv
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71. ‘FEa P e ¥ EY FR AR 7
qare

(1) BEA N FAUR FE q &S B A
T 2

(2) FrEer g f FEr a9 A 2

@) X H T & guE & e B

(4) Faen U & X & o g & &
Y

72, ‘G 9% B a9 § 7
(1 f&g
2 &=
(3) FHURE
(4) TGeN
78. ‘orgrey’ o= & fq A aria @
(1) R aree T ol @
@) Rras #3578
(3) Pram #E o 5@ T B
@ st@y AR

74, ‘HeEEE 9= ¥ PE-E U@ @0 E 7
1 @
(2) 89
@) 9
4 ¥
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75.

76.

1.

78.

Pl -l § BF-a1 STwHT
%7

@ R q0s S,
Tt AR Rega 9l |
(1) T7E
(2) I
(3)
(4) Ia
Rt AT gerX H oY R
(1) g BRAR B
@) s B
(3) IGT @M
@) @ &

Prafafeg ¥ @ "o @ @ =4
FT:

O &

@ ¥

@) T

@ @

‘gt g B |y e g
(1) gt + g

(2) amt + T

(3) ard + ST

(4) 9 + I



79. T AT AL 7

80.

81.

() 9, § 4 %
23 T @ a
3 3 @ 7§, g
4 %39 0%

= A g @ Fefifes geg @ @
a?rﬁaﬁmaﬁm:

A T 9 & ae ¥ &, Ry g
Fras 78 ger)

(1) % e
@) My T
(3) WIH
(@) faym T
g‘r:ﬁ%rftaa FA-GEdl § P-a1 S
| TN 7% foga an fem,
W TH B geF WA |
(1) Igm
(2 7%
3) iy

(4) &%

-
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82. 1 RU M wiy & wemr o siftm
T T WE @RI RY W Ay F e
- AR H wEiE v ow g
@ F F Fha oEeE # @ ge
@ﬂi‘gﬁmél

(i) 7 AR =T B afaer F fRae B
(i) F oA R w it @
HberleT HiRT F St o ¥
W) e ESf F sEmE W e
TEF-AH & I a9 ot ¥ |
(v)_qzmqtﬁaﬁﬁra%aam%:
1) i, iii, iv
@) iii, ii, iv
@) iv, i, i

(4) i, iv, i

e : (997 ¥o 83 & 90 %)

9 Ry Ty 7 smg R =t 2 Fre afye
=T FT T FHor/ .

T RER § W A I ww, amE ek
FET! ST (83) uerrernnnnn... 74 F0 1 NRF
T 8 & T ¥ TR (84) ..... s aBagon
g B & 1 o e oRaffa @ w3

&mmﬁﬁéwa ............... o ®E



A

AR M d %M 7 WeeER A @ g
IR AT Sfee Sfa-u it Far 7 (86) ...
......... T Rar 21 oo ¥ el @1 Ra W
gad| A2t & 92 RAT B87) oeveeieenn, gl
3 A X ST B g §, AR FT AR;
da @ offdl ¥ oifg om o ¥ oW ol
AR (88) ... A F A (89) e
(90) rvrernreers & A X, @ TH A TN
Yiom ¥ Y A oM omw ¥ A amR
yrafEd F41

83. (1) far

2) =
3 3@
4) F=<

84. (1) afEw
@ f
@) R-frer
(4) =l

85. (1) 99

(2) #ig .
(3) FHRAT
4) =™
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86.

87.

88.

89.

90.

(1) ©m
2) #H
(3) «m
(4) g

() gom
2 ™

3) I

4) g@

(N g3
(2) |

(3) =ty

(4) €33F

(1) SR
(2) JYHR
@) Fu

(4) S

(1) 3
(@) AT

C(3) el

(4) g




fAd%r : (997 do 91 & 95 %)
79 Ry 7 m=sr & ggav 7ad a8 Reey a7
TI7 T/

AR A o7 € w9 ge T 4w B oG A
qEd A T WA 3 W ¥ dERr @
gfver Sert AT iR e e-geHt wr
Wae, @ R Rk & som & Pee &9
TrET Fd €, e R e ol Rert o @
TR @ § P e adaer @ 3 R
B 9% € B T Rigd I @2 3@ §
TR B PN A e wg T R e
dicF I B W& Fm B A, R e e
9 q 9% gwEE. T ¥ Re oant 8

Sl H R AT A T T I e

g ¥ ol el ¥ % R 3 qur
T T SeM o R, sw swE e
GElD H AR A RRG ¥ o a9 B3
7 & X & T A gae @l ored B
W g8 W@ H UG FEN A A o §
g8 ¥ R o ofiew @ ot
19 W qEE # 9REd R B

91.

AR & e Frafafag & @ R
e aal & 7

(1) 99
(2) "g=e Fl
(3) 3g@ A
(4) a5

-
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92.

93.

94.

95.

A

M e @l e g o Rema
IUEH 78 & 7

(1) gt

(2) 99 #

(3) WA H

4) @@t &

%ﬁwmﬁ#ﬁﬁaﬁmﬂm
fRafey &t & ?

(1) 899 32 99 a1 &

(2) TN ITH Y& HIew B

(3) T I% IR UX 2w ¥

(4) |9 IF afeepd w31 @

e adl gew T ] o gwEn
GEECE

(1) @t afr #i

(2) T af @it

(3) o=t afa i

(@) TTEd F RT3 A = AN

‘WA 9= w7 R Ra g §
1) ww (2 Tgw
(3) wWid® (4) YIS

P. 720,



A

fEsr : (vs1 do 96 & 100 )

FreTfofa Fier & 98HT 999 T8 AT H

I HITT |
e TE N gEE 3,
T F e S |
e TE R A A,
fig @l A TaEn |
e TE, T & 9
w2 R | s S
o 8, ¥ B R
T W TS |
78 s A A
3G 9 W A & BF |
Ty | g e,
R q oY 4R 8 |
96.
™ e ?
(1) & & e
@) g el & fomw _
(3) 29 Fral onalg erwwel & fo
(4) Tae A wERA B R
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97.

98.

99.

100.

Fragia ¥ B SToet 38 W 2 7
(1) 3

C (2 WA

(3 wEl A
(4) B

dr o sher e frg o @ ¥ 7
@) wyfy # wn & R

@ TIgR B T 3 [

@) 94 # gawar & R

(@) o G F T B R

gETe = F BT = e
(1) TEE
(2) wrEmt
(3) wEEl
(4) TERE

e Faan @ fg gugF 4 §
(1) R /AR

@) e A A

@) TR Bl A

(4) T B OAE
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Note : Must fill Language Option of Page 1 at Sr. No. 10 of O.M.R. Sheet.

PART - II (1 - I1)
LANGUAGE TEST

qToT gL
(English Language)

Questions : 51 to 100

Direction : (Q. No. 51 to 55)

Read the following passage and answer the
questions given after it.

In a metropolitan city, the worst offenders
are the upper income group of the so-called
posh colonies. Though educated, the
residents of these affluent areas are
unaware of the damage done by the plastic
bags. Nearly a million children in the city
schools carry their lunch boxes in plastic
bags. They callously throw them away and
cause unhealthy environment.

As it is convenient for mothers to wrap the
food in plastic so it is difficult to persuade
them against doing this. When the midday
meal scheme is fully implemented, it must
be seen that no plastic wrappers are used.
As these wrappers are light in weight, they
are born aloft by the wind causing visual
shocks. Unlike cotton or paper bags they
remain undissolved in the mud and stop the
rain water from seeping deep into the earth.
This affects the natural growth of greenery.

51. How do school children
metropolitan city spoil
environment ?

¢)) i‘hey‘ carry their lunch boxes in
plastic bags.

(2) They eat their lunch in the
_school.

(3) After eating their lunch, they
throw away the plastic bags
carelessly.

(4) After eating lunch, they don't
wash their hands.

in the
the

NTSE(Level-1) Exam. Nov. - 2015

52.

53.

e

Why is it difficult to persuade
mothers not. to wrap the lunch boxes
of their school going children in
plastic bags ?

Because children like colourful
plastic bags.

1)

(2)

Because the plastic bags cost
them almost nothing.

(3) Because if they don't do it, their

children get late.

(4) Because mothers find it

convenient to do so.

What care should be taken while

implementing the midday meal

scheme ?

(1) Parents should take an active

part in the scheme.

(2) No plastic wrappers should be

used.
(8) No child should be left unserved.

(49) No teacher should partake of the-
food.

Pl TC O‘



54. How do plastic bags affect the natural
growth of plants ?

(1) They don't let the roots absorb

water from the soil.

(2) They stop the light of the sun
from reaching the plants.

(3) They take up much of the water
from the soil.

(4) "They stop the rain water from

seeping down into the earth.

55. What is meant by the word
‘callously’ ? :

(1) without any feeling of pride

(2) without any feeling of sympathy

(3) without any feeling of jealousy

(4) without any feeling of joy
Direction : (Q. No. 56 to 60)

Read the following stanza of a poem. and
answer the questions given after it.

A lily of a day

Ié fairer far in may,

Although it fall and die that night-

It was the plant and flower of light.

In small proportions we just beauties see:
And in short measures life may perfect be.
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56.

57.

58.

59.

60.

Alily grows in .....ovvvviericiennianinse

(1) summer (2) winter

(3) spring (4) autumn

The life span of a lily is .....c.ocuven.

(1) one hour (2) one month

(3) one year (4) one day

Why does the poet call lily 'the flower
of light' ?

(1) Because it is light in colour.

(2) ?ecause it is light in weight.

(3) Because it gives light.

(4) Because it gives joy and

happiness.

Perfection can be achieved

(1) in a few days

(2) in so many days

(8) in a short span of time

(4) in along spz;u'; of time

What is meant by the phrase 'small
proportions' ?

(1) small objects

(2) small flowers

(3) small fruits

(4) small trees



Direction : (Q. No. 61 & 62)

The following five sentences come from a
paragraph. The first and the last sentences
are given. Choose the order in which the four
sentences (T, U, V, W) should appear to
complete the paragraph.

N ; S1 Dowry related crimes are on the

increase.

S6 So all women should contribute in
washing out this stigma from the
face of our society.

T - Education of women is a must to
eradicate this social evil.

U - It also appears that this problem
has to be solved by women
themselves.

V - Most cases arise out of lack of
mental toughness among women.

W - The awareness level of their
rights has to be raised.

1) WYUT
@ UVWT
@) TUVW

4 VTWU

N
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A

62. S1 Everybody agrees that something

should be urgently done to arrest
the rise of pollution.

S6 Besides, the laws of Euro 1 and
Euro 2 should be strictly
enforced.

T - Yet not many people are really
doing something for it.

U- Itis advisable to use a public bus
rather than a private car.

V - We should not use a vehicle
unless we must. .

W - We should try to minimize the
use of vehicles.

(1) TWVU
2 TUVW
(3 WVUT

(49 UWTV



A
Direction : (Q. No. 63 & 64)

The following questions have the second
sentence missing. Choose the appropriate

sentence from the giben options to complete
it.

63. A. Thoughtless felling of trees and
indiscriminate deforestation has

played with rain cycle.

C. Otherwise, our earth will become
a barren and lifeless planet.

(1) On the Van Mahotsava day, we
should arrange meetings to think
about our country people.

(2) The deforestation has decreased
rainfall.

(8) Today we need to consume the
existing green cover and to plant
more trees.

(4) Our scientists  should do-

researches on rain cycle.

64. A. Children usually play on the
roads and never bother about the

moving vehicles.

C. They must not do so as they
ignore the vehicles coming and
going and risk themselves.
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(1) The road users and others must
not at any cost cut it short by
ignoring traffic rules.

(2) Life, indeed is very precious.

(3) Young people look at driving as

enjoying.
v

(4) Playing on the road 1s really
dangerous.

Direction : (Q. No. 65 to 72)

Choose the word which best fills the blank
from the four options given.

65.

66.

67.

In the north-east ......co.ccveceniniione
Mountains of clouds could be seen

approaching.
(1) big (2) huge
(3) high (4) long

Education was safe and ......c.oooeen
from social evils earlier but this is not
true today.

(1) flourished (2) protected

(8) influenced (4) immune

Abolishing  untouchability is a

8L crurireeresseriieenenns to the Father of
Nation.
(1) thank (2) trust

(3) tribute (4) tribe



68. Mahatma Gandhiji always exhorted
people to ....oviviininnnnn. violence.
(1) shun (2) stop
(3) shut (4) stag

69. Nelson Mandela was pleasantly
...................... by dignitaries and
world leaders who were coming to pay
their respects.
(1) besieged
(2) behaved
(3) bestrided
(4) beleaguered

70. Polythene shopping bags and
wrappers are & big threat to our
sewer system. They can ...............
drains and disrupt our sewer system.
(1) choc (2) chock
(38) chowk (4) choke

71. 'The Ramayana' is the .................
book for Hindus.
(1) great (2) sacred
(3) reﬁr}ed (4) remarkable

72.. We Were ....ccorevvvurrensansnnnn inside the

elevator when it stopped because
there was a power cut off.
(1) trapped (2) jammed

(3) rocked 4 caught-
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Direction : (Q. No. 73 to 82)

In the following passage there are some
numbered blanks. Fill in the blanks by
selecting the most appropriate word for each
blank from the given options.

But then I slowly saw that not only was I
not free but my brothers and sisters were
not free. I saw that it was not just my
freedom that was (73)...... but the freedom
looked like I did. That is
the National
Congress, and that is when the hunger

of everyone (74).....

when 1 joined African

(76)......my own freedom became the greater

. hunger for the freedom of my people. It was

this desire for the freedom of my people to
live (76)...... lives with dignity and self
respect (77)...... animated my life, that
transformed a frightened young man into a
bold one, that drove a law-abiding attorney
to become a criminal, that turned a family-
loving husband (78)...... a man without a
home, that forced a life loving man to live
like a monk. I am no more virtuous or self-
sacrificing (79)...... the next man, but I found
that 1 (80)...... not even ‘enjoy the poor and
limited freedoms I (81)....... when I know my

people (82)...... not free.

73. (1) briefed (2) trimmed
(3) curtailed (4) shortened

74. (1) who (2) whom
(3) tl;at (4) which

P.T.O.



75. (1) of @ to
@) with (@ for
76. (1) Their () your
" (3) his (4) our
77. (1) who (2) what
" (3) ‘that (4) this
78. (1) in (2) into
(¥ to (4) with
79. (1) for @) as
(3) then (4) than
80. (1) can (2) could
@) will (4) would

81. (1) am allowed

(2) have allowed
(8) had allowed

(4) was allowed

82. (1) were (2) was

(8) are (4) be
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83.

84.

85.

Direction : (. No. 83 to 85)

Choose the appropriate phrasal verbs to
complete the sentences.

JLocal residents were angry at not
being ..ceceviiiieiiiiiiin, on the new
housing proposal.

(1) broughtup (2) brought down

(3) broughtin (4) brought out

They ovvvveirnnnen. on the last stage of
their journey.

(1) setout (2) setin

(3) set off (4) setup

These shoes are so small that you

(1) getout (2) get away

get into (4) getup

" Direction : (Q. No. 86 to 88)

Select the meaning of the given
phrases/idioms.
86. Any Tom, Dick or Harry

(1) any three persons

(2) any person from a western

country
(8) any ordinary person

(4) any one of three different persons



(33) A

87. Be raining cats and dogs 91. When we saw a snake in the class
(1) to be raining with thunder and room, our entire class started to
hghtmng ................... in its boots
(2) to be falling cats and dogs from (1) quick (2) quake
the sk
¥ (3) quaczk (4) queue
(3) to be raining on cats and dogs S
(4) to be raining heavily 92. We are trying to appoint ...............
88. Smell a rat qualified teachers in our schools.
(1) to suspect that something is (1) intelligently (2) heavily
WEORg (3) highly (4) strongly

(2) to come to know presence of a rat

3) to smell like a rat 93. You will reach Bombay quickly if you

travel by @ coovvviinviiiiiiiiieians train:
(4) to feel an unpleasant smell
(1) quick (2) speedy
Direction : (Q. No. 89 to 93)
(3) rapid . (4) fast

Select the most appropriate option to fill in

the blanks from the given alternatives. /
Direction : (Q. No. 94 & 95)

89. I have started to jot down the facts in _ ]
Select the word which means the opposite of

8. seervesgmasic. IR, the way- most

people do. the given word.

(1) dire (2) dare 94. Different

. (3) dairy (4) diary (1) indifferent (2) combined
90. This road doesn't ......cccecveinins to @) similar (4) separate

— 95. Prevent

(1) go (2) walk (1) allow (2) order

(3) run (4) lead

(3) command (4) begin
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Direction : (Q. No. 96 to 100)

Read the following passage and answer the
questions given after it.

Our earth is like a greenhouse, with one
difference. A greenhouse is encased in glass,
while the earth is encased in a thin blanket
of carbon dioxide (CO,). This carbon dioxide
serves the same function for the earth as
does gl/gsifp_r_gw_l}ouse.lthelpwp
the earth warm. Scientists call it the
'greenhouse ‘e@:_'; The amount of carbon-
dioxide in the air is only 0.03 percent, yet all
plant and animal life depends on it. The
percentage of carbon-dioxide in the air is
kept almost constant by a series of natural
processes. We call it the carbon (or carbon
dioxide) cycle.

96. What is a greenhouse ?

(1) A house in which green plants

have been grown.

(2) A case of glass in which fish and

other water animals can be kept.

A building with glass sides for
growing plants that need
protection from sunlight.

A building with glass sides and a
glass roof for growing plants that
need protection from cold
weather.

3

(4)

97. How does the earth differ from a

greenhouse ?

(1) 'I;he greenhouse is enéased in
glass, the earth in a thin blanket
a of carbon dioxide.

(2) The greenhouse is encased in
carbon dioxide, the earth in a

sheet of thin air. .

(34)

98.

99l

100.

(3) The greenhouse is too small, the
carth too big for green plants.

(4) The greenhouse can be carried
from one place to the earth but
the earth can't be carried.

Carbon dioxide serves the same
function for the earth as .......
(1) The greenhouse dloes for glass.
(2) Glass does for the greenhouse.
(8) Glass does for cagbo,n. dioxide.

(4) The earth does for carbon dioxide.

élass helps to keep the
greenhouse ....ooovvvvnnens

(1) warm (2) lighted

(3) cool (4) safe

The carbon cycle is a series of natural
processes that help

air free from

(1) To keep the

pollution. .

To increase the amount of carbon
dioxide in the air.

@

To keep the amount of carbon
dioxide the air almost
constant.

(6))

in

To reduce the amount of carbon

(4

dioxide in the air.
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PART - II (¥ - I1I)
SCHOLASTIC APTITUDE TEST

et Avgar ThEon

Questions : 101 to 200

101.

102.

103.

104.

The correct order of radii of three
species :
Ca, Ca®, Ca*' is
(1) Ca> Oyu" >Ca®
(2) Ca*>Ca" > Ca
3) Ca' > Ca>Ca™
(4) Ca" > Ca* >Ca

Read the following statement and
chnose the correct option.

(a) Calcium is present in the bones
of animals and human beings as
sulphate

Heating Calcium carbonate to
1070K - 1270K gives quick lime
Aluminium is not affected by dry
air

only (a) and (¢) are true

only (a) and (b) are true

only (b) and (c) are true

All are true

(b)
(©

(1
(2)
(3)
(4)
Temporary hardness of water is due
to compound ‘A’ and can be removed
by adding compound 'B'. A and B
respectively can be :

(1) Mg(HCO,),, CaCO,

(2) CaSO,, HCI

8) CaCl,, MgSO,

(4) Ca(HCOy),,Ca(OH),

Match the Column I and II.

I 1I
(a) Aerosol i.  Shaving cream
(b) Foam ii. Face Cream
() Gel . iii. Clouds
(d) Emulsion iv. Jelly
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101.

102.

103.

104.

frer 9 aidfiar § Bt &1 @8l A
2
Ca, Ca’*, Ca*
(1) Ca> O >yCa®
(2) Ca** > Ca'> Ca
(3) Ca* > Ca > Ca®*
(4) Ca'> Ca* >Ca

W%mq%aaéﬁzﬁa}gﬁl

(a) HFEIH TEEA A WG Hl efgEdl
¥ gede 3 €9 § 9 S @

(b) Ffedgy FEMT 1070K § 1270K
% ™

(1) 349 (a) AT ()
(2) &5 (a) 3 (b)
@) Fad (b) A ()
(4) ot gd

g F oTEIE FEIREl W HRO A
A % a0 Afe B e O A
o FHAT 81 A 31T B HHI: B

(1) Mg(HCO,), CaCO,
@) CaSO, HCI

3) CaCl,, MgSO,

(4) Ca(HCO,), Ca(OH),

P 1 A 11 &1 Bam F1 |

I I
(2) E i, ofd wm
(b) HH i, %9 %M
(©) iii, &
(d) AN v, S
P.T.O.



105.

106.

107.

108.

a b ¢ d
(1) i, 1, 1, 1iv
(2) 1, 1, v, i
3) ui, 1, iv, 1

4) 1,
Two oxides of an element contain
57.1% and 72.7% of oxygen. If the
first oxide is MO the second 1s :

(1) M,0 @ Mo,
(3) M202 (4) M203

iv, 1, 1ii

The atomic mass of an element is 19.
The second shell of its atom contain 7
electrons. The number of protons in
its nucleus is :

(1) 9 (2) 10

@) 7 (4) 12

Hydrogen gas is not liberated when
Pb is reacted with Conc. HNO,
because :

(1) Pbis less reactive than hydrogen.

(2) Pb is more than
hydrogen.

reactive

(3) ’Conc. HNO, is strong reducing
_agent.

(4y Conc. HNO; is strong oxidising
agent. '

The correct order of increasing

basicity in the following may be :
(1) Ba(OH), < Ca(OH),< Mg(OH),
_ < Be(OH),
(2) Be(OH), < Mg(OH), < Ca(OH),
< Ba(OH),
(3) Ba(OH), < Mg(OH), < Ca(OH),
< Be(OH),
(4) Mg(OH), < Ca(OH), < Be(OH),
< Ba(OH),
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105.

106.

107.

108.

a b ¢ d
(1) i, 1, 1, iv
(2) i, 1, iv, i
3) ui, 1, iv, 1
(4) 1, 1iv, 1, i

T Td @ o st ® wH 57.1%
g 72.7% RIS ¢ Ay gee oifFEe

MO & @ @0 SliFaRs & -

1) M,0 @ Mo,

(3) M202 (4) M203

Fefl d @ oo w19 g
@ w4 F 7w & Qg TS
¥ 9 &t dern @l

(1 9 @ 10

3) 7 @ 12

Pb # w9 @iz HNO, ¥ o w02 ol
t @ ezse M Ad freadl, =90

(1) Pb eEseM ¥ w9 Beastia
(2) Pb e A afvs frndia &

(3) @& HNO, Jad SI9add &

4) | HNO, & SAaIaid ¢

frs & Fedt & @iy sl & gEn
& A BT
(1) Ba(OH), < Ca(OH),< Mg(OH),

< Be(OH),
(2) Be(OH), < Mg(OH), < Ca(OH),

< Ba(OH),

" (3) Ba(OH), < Mg(OH), < Ca(OH),

< Be(OH),

(4) Mg(OH), < Ca(OH), < Be(OH),
< Ba(OH),



109. A gas on passing through ammonical

110.

111,

112,

113.

“AgNO; does not give any precip_it_afe

but decolourises alkaline KMnO,.
The gas may be :

(1) CH,
(3) C.H,

(2) C2H4
(4) C,H,

Th¥ chlorination of methane is an
example of :

(1) Decomposition reaction
(2) Substitution reaction
(38) Addition reaction

(4) Oxidation reaction

The correct name of the following
compound is :

. CH,- CH- CH- CH,
| |
CoH;  CoH;

(1) 2, 3-Dimethylbutane

(2) 2- Ethyl 3-methylpentane
(3) 2, 3-Diethylbutane

(4) 3, 4-Dimethylhexane

The noble gas which occurs most
abundantly in the atmosphere is :

(1) He (2) Ne
(3) Ar (4) Kr

When Geeta put a copper strip in a
solution kept in a laboratory, the
colour of the solution turns blue.
According to you the solution can be :

(1) AgNO, (2) Zn(NOj),
(8) NaCl (4) KNO,
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109.

110.

111.

112,

113.

A

@ 9 B mtEEE AgNO, @ T
ST B Al TR wa T ) W e
KMnO, TN & oiar 8, 38 T\ &
TFA B

(1) C,H, 2 C,H,
(3) C.H, (4) CH,
R H1 FALHGTT T I g

(1) sqged iR

(2) e s

(3) waT arfwfrar

(4) St sAfufa

Frer A & &8 W &
CH,- CH- CH-CH,

| |
C,H, C,H,

(1) 2, 3-3HERT A
(2) 2-3UTEa 3-Hiangd Ives
(3) 2, 3-3% 3w A
(4) 3, 43 WuEA BFT
ageeT ¥ @ad o ol o anh
et %

(1) He (2) Ne

(3) Ar (4) Kr

Aar F gArreT ¥ W@ o foem ®§ o™
o At ggdt et @ fwEw & o1 A
B T | IR AR J8 e @ ga
g ‘

(1) AgNO,

(3) NaCl

@) Zn(NO,),
(4) KNO,

P.T.O.



114.

115.

116:

117.

118.

If a photosynthesizing plant releases
oxygen gas containing O, It is
concluded that the plant has been
supplied with :

(1) CgH,,0¢ containing O

(2) CO, containing 0'®

(3) H,O containing 0"

(4) Oxygen in the form of ozone

The sequence of cell eycle is :
(1) §,G, G, M

(2 S, M, G,, G,

3) G,,S,G,, M

4 G,,S\M, G

An injury in accident has disturbed
regulation of body temperature,
water balance and hunger. The part
of brain effected is :

(1) Cerebellum

(2) Cerebrum .

(3) Medulla oblongata

(4)" Hypothalamus

Which of the following is a group of
hermaphrodites ?

(1) Earthworm, hydra, leech
(2) Cockroach, earthworm, hydra
(3) Earthworm, ascaris, leech

(4) Ascaris, cockroach, hydra

If a rat is given an injection of sodium
iodide with radioactive iodine, then in
which of the following most of iodine
would be incorporated ?

(1) Cartilage (2) Thyroid
(3) Parathyroid (4) Lymph nodes
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114.

115.

116.

117,

118.

TS GeAN & URR @ AE ARk O
den argrizd § O FE SffEdEE T
Brear &, a g9 st g e i 9E
J ura B ®

(1) 0" % T C.H,,0;

(2) 0" 3 ¥y CO,

(8) O % 1Y H,0

(4) N B =7 * SR .
FIF o B T B B

(1) S,G, G, M

@ S'M,G, G,

(3) G,,S,G,, M

4) G,,S'M, G,

gie § 9 @ & RO G #;
e e, O @ ageH, 9@ T
s a s g1 wRass # E-a
AT g g3 v ?

(1) FgaRa=s

(2) wEiET=s

(3) Aga Aarer

(@) FRAASTH
fPrefafige o & @ @ w9 Sl @
g7

(1) FoT, eEgl, IF

(2) FHUT, HY, TFH

(3) Fge, Mg, Ab

(4) Mg, FEAE, TEE

R Bl g @ WRE e 3R
ARTY FHEEE & oeH RAT 9,
i smaeN Fa g arf ?

(1) Surfey
8) TuumTEs

(2) 99Uz
(4) T



119.

120.

121,

122,

123.

124,

Blood Clotting is initiated by :

(1) Prothrombin and thromboplastin
(2) Ca' and thromboplastin
(3) Fibrinogen and Ca™"

' (4) Fibrinogen and thromboplastin

In a six year old stem, the oldest

layer of secondary xylem is situated

just :

(1) Outside the primary xylem

(2) Outside vascular cambium

(3) On the inner side of cork
bium

(4) On the inner side of vascular

cambium

The tusks of female elephant are :

(1) Molars
(8) Upper Incisors

Which of the following is least
effective for photosynthesis ?

(1) .Red light ~ (2) Blue light

(3) Green light (4) Violet light

Which of the following is true with
respect to concept of Biodiversity ?

(a) Biodiversity refers to different
species of flora & fguna present
in an area. -

Biodiversity refers to only the
flora of given area.

(2) Lower Incisors
Canines

(b)

(c) Biodiversity is greater in forests.

(d) Biodiversity is total no. of
individuals of a species in given
area. _

(D @&®) (2 ®&@

(3) (a) & (¢) 4 ) & (o)

Select the group which contains only
non biodegradable items ?

(1) Wood, paper, leather

(2) Polythene, glass, PVC

(3) Plastic, glass, grass

(4) Plastic, nylon, cardboard
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119.

120.

121.

122.

123.

124,

A

TR P AFE G AT FHA B U
g7 @ s o A & 7

(1) efife qar diEnies

(2) Ca*™ qar giarafes

(3) RS T Ca**

(4) TRAFNH qa giarees

B ¥d [ a9 § d%ed omew @
I8 QI ava fRea 2

(1) " SEEE & At

(2) I FgEH B BT

(3) P BfgIY F T P &R

(4) TG Ffag B oy A @R

o Bl 3 ey Rew am @ 98 dF
GLEA

(l)a’cﬁ?ﬁ' @ Few g%

(8) UL FTH (4) &F

U HeANT F ﬁﬂ?{'ﬁﬁ?\‘?ﬁm

fFe g98 F9 g9Ea 3

(1) T 9T (2) aﬁmm&r

(3) BUTHS  (4) T T

%7 Rfe #t o@urer & ged ®

frafafea & & fF-a1 e g8t 2 ?

(a) ¥g Rfywa Rl & § @t ok
g‘gﬁaﬁhﬁamﬁﬁf%mﬁa
! .

(b) 59 Ry o0 B 83 3 T

- -t | e B

(© 7§ S7 Rfagm afte 2 B

(@) &g R BB ¥ w A
af sigett & dafya 1

D) @WEGH @ O

(3) (a)@(C) (4) (b)W (¢

Prfofe & & @ P aﬁa
Frefiestelia awgett @ 8 ?

(1) &I, HE, TH

(2 uieds, #a, & @ @

(3) wfe®, F9, 99

(4) <, Agad, T

P.T.O.



125.

126.

127,

128.

At which trophic level, maximum

energy will be available ?

_—
(2) Ty
4 T,

1 T,
@f T,
A short length of DNA molecule

contains 120 adenine and 120
cytosine bases. The total no. of

nucleotides in this DNA segmentis: ,, |
. - Y

(1) 120 (2) 60
(3) 240 (4) 480
In the following diagram, ABC are :
A
B
C
A B C

(1) * Cotyledon, Plumule, Radicle
(2) Plumule, Radicle, Cotyledon
(3)“Radicle, Cotyledon, Plumule
(4) Plumule, Cotyledon, Radicle

In the figure, the semicircle centered
at O has a diameter 6 cm. The chord

BC is parallel to AD and BC = %AD

The area of the tgapezium ABCD. in
em?, is

/BQC\

A = D
1) 4 @ 42
@) 8 @ 82

(40)

125, fpafofea § @ #9-8 ®WX 9 @S

Fal 8 ?
T,
T,
T,
T,
(1) T, 2 T,
@) T, @ T,

126. DNA & o] # @& 811 darg § e

T AN # &N 120 WY |
g DNA 3 & # o Rxa

frieEs B8R 7
(1) 120 (2) 60
(3) 240 (4) 480

127. Prfafaa s § ABC %A © ¢

B

C

A B C
(1) ToE, T, THT
(2) ST, YFgY, AT
(3) THIGY, AT, TGT
(4) gL, AT, FAHT

128. Igfy § orfgw @ &= O ¥ &l AD

g g & Rrad dag 6 Wi 21 S
BC,AD_%W%WBC=%AD%
adE ABCD 1 a5k, ad? § ® ¢

/83\
A 5 D
(1) 4 @ 442
@) 8 @) 82



129.

- 130

131.

(41)

In the figure, the radius of the larger
circle is 2 em and the radius of the
smaller circle is 1 cm and the larger
circle passes through the centre of
the smaller circle. The length (in cm)
of the chord AB is :

A L

R\

8

V15

1) — (2 2

2
@ 3 (0 2034
2 17

ilateral triangles I, II, IIT and IV
“are such that the altitude of triangle
I is the side of triangle II, the altitude
‘of triangle II is the side of triangle III
.and the altitude of triangle III is the
side of triangle IV. If the area of
triangle I is 2 em®, then the area (in
em?) of triangle IV is .

V3

(D Y

A ABC is a right angled triangle with
£A =90°,

AB=bcm, AC=acm,

and BC =ccm V

A circle is inscribed in this triangle. "~

The radius of the circle, in cm, is :

9 27 ,. 45
2 16 3 32 (4) 1

(M) a+b=c.

3 %(a ~b+ c") b(‘_i)‘ 7 SR
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129.

130.

1381.

Iy & 93 g9 # B 2 3 aw
Bl g9 @ Bear 1 &F ¥ ol sw aw
B g9 & &% § TORAl ¢ Al AB F
GEIERLI

A

QR
(1)%—i 2 2

3 . 534

dar BC=c & B AL
A siia @ gu dier TR A

Brwar, a0 7 8 ¢ L ok
B atoel @ sanhid 4k

FEa

®) .-;-(a ~b+c) @)



132.

133.

134.

135.

136.

Pentagon ABCDE is such that all five
diagonals AC, BD, CE, DA and EB lie
entirely within it. If the area of each
of the triangle ABC, BCD, CDE, DEA
and EAB is equal to 1 cm?, the area of
the pentagon is :

1) 545 em? (2 3+45 em?
2 2
(3) 5+2J5 em?® (4) 5—2‘/5 em®

In the figure, PQ = QR = RS = 8P =
SQ = 6 cm and ‘ )
PT = RT = 14 cm. The length ST is :

P
"
Q
R
(1) 4410em (@) (7J§—2) cm
(3) 10 em d) 1lem

' Let by, by, --, byg be the first 19 terms
of an arithmetic progression (AP)
ith b, + bg + by, + by, =224. The
m of first 19 terms of the AP is
(1) 448 (2) 896 )
(3) 1064 (4) 1344

If o, p and y are the three zeroes of
the polynomial p(x) = 2~ 64x — 14,
what is the value of o + % +v° ?

(1) 36 (2 40 (3) 42 (4) 64

What is the remainder when the
polynomial o '
p) =220 = 2" 4+ 0 2+ P a1
\25 divided by (x—1) (x~2) ?
@ 1 @ 7

8 2x+1 (4) 6x—56
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132.

133.

134.

135.

136.

Yugst ABCDE 30 waR & B g
aiEt f@t AC, BD, CE, DA 3R EB
zad d9 § & %1 3Rk u@% Bge ABC,
BCD, CDE, DEA 3T EAB & 5%
1 32 &, & qEYS W OATE € ¢

o B @ ?—izﬁw
5+\/§

3 5

A (4) %‘/-—51 e

mﬁpQ:QR:RS:SP:ch_—_
6 b A
PT=RT= 143 3| STH &€ & :

p
-
Q
R
1) 4J108H (@ (743-2) Wi
(3) 108H (4) 118

Rl gieR 30 & 9 19 W by, by
<, by & 3 by + bg + by, + byg = 224
3| wiaT Al F e 19 T H A E

(1) 448
(3) 1064

(2) 896
(4) 1344

R qgT p(x) = ¥ — 64x — 14, B T
T o, B ATy &, W@ o’ + PP+ H
o TR ?

(1) 36 -(2) 40

(3) 42 (4) 64

p) =P - 260 4+ 0 - 22+ P Fx+ 1
B (k-1 (x-2) ¥ 9 ]| GHN
SIS T BR 7

1 1
3) 2x+1

@ 7
(4) 6x-5



137.

138.

139.

140.

141,

If sin 87° and cos 87° are the roots of
the equation x*— bx + ¢ = 0, then the
value of b is :
(1) ¢

3) 1-¢°

(2) 1+ 2c
(4) 1+¢°
If [x-y| =1and
2 \d A
\— = xy, then the number of
Y
different pairs (x, y), which satisfy

both the equations simultaneously,
18 :

(1) 2 2 3
3) 4 4) 5
One of the factors of

8la® + (x — 2a)x - 5a)(x
(x-1la)is:

(1) =*-13a+ 31a®
(2) «*+ 13a+ 81a®
(3) x*+ 18a-31ad’
(4) x*-18a+ 31a®

The value of
{31515
—— .-_+ —
9 9 9
is:
1
- @ i3
(1) Vs )
V3 3
3 4
N 8~/§+1 e Y2 +1

If x=v5++21 and y=J5-«/§T

then the value of (x—¥) is
@ 221 (2 10
@) 6 _ @ +6
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137.

138.

139.

140.

141,

A

g sin 87° T cos 87°, THEHMT
P-bx+c=0% & T b F AN
2

1) e (2) 1+2¢
3) 1- ¢ 4 1+c
T |x-y| =1

Z=m¥

y

@Wg’ﬁf(x,y)iﬂmﬁﬁﬁ
A T R T W g L
forr

1) 2 2 3
@3) 4 4 5

8la* + (x - 20)(x - ba)(x — 8a)
(x~1la) F T THES 8

(1) #*—13a+ 31a*
(2) 2+ 13a+ 31d°
(8) 2%+ 18a-31a*
(4) x*-18a+ 31d*

H A &
D) —= @ 43
33
/3 3
3 4
@ i/§+1 @ V§+1

o x=+45+421 Tq y=v5-421

A (x—y)FAF B ¢
@ 221 @ 10
@ 6 @ ++6

P.T.O.
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142.

143.

144.

145.

146.

147.

: 7
(3 18

[et x be the greatest number by
which if we divide 366, 513 and 324,
then in each case tie remainder is
the same. The sum of digits of xis :
3 @4 @G5 @7

If a number m is divided by 5 leaves a
remainder 2, while another number n
is divided by 5 leaves a remainder 4,
then the remainder, when (m + n) is
divided by 5 is:

m1i1 @2 @3 @4

If 3 sin® + 4 cosb = 5, then the value
of 4 sinB — 3 cosB is:

(1 -5 (2) -2

(3) 1 (4) 0

Consider the points A(=5,—1),
B(- 1, 0), C(1, 2) and D(1, 3). Let P be
a point such that d = PA* + PB® + PC?
+ PD% The least possible value of d
is:

(1) 28 (230 (3) 32 (4) 34

I play a game in which two dice are
thrown together. I win if the product
of the two numbers appearing on
their tops is odd or a multiple of 5.

The probability of my winning is :

1 5
= 92) —
(€Y 3 (2 12

1
(4) y
A solid metallic sphere of radius r is
converted into a solid right circular
cylinder of radius R. If the height of
the cylinder is twice the radius of the
sphere then:

V2
1) R= 9) R=13Z
(1) r (2) 5
2r \/gr

3) R=,— 4) R=
(3 3 (4) N5
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142.

143.

144.

145.

146.

147.

o B ox a8 99 § 99 den © Rl
afz &9 366, 513 3K 324 FH 9 &, @
g Ry § 9w uE €1 x 3 o #
T

Mms3 @4 @5 @7
R dE m F 5 QA 9T 3T W ! 2
R dEm n B 6 QA WA I W4 AY
m%,??f(m+n)ﬂ?f5§‘ﬂﬂﬁﬂ
A9 B )
M1 @2 (3 @ 4
g%  3sind+4cos®6=5 o, @

4 sinf — 3 cos0 H UA B
() -5 @ -2
(3) 1 (4) 0

figalt A(- 5, — 1), B(- 1, 0), C (1, 2) 3¢
D, 3) W far Ffm 3k o &g P
=6 WK & B d = PA? + PB* + PC* +
PD? @ d @l AR € A € -
(1) 28 (2 30 (3) 32 (4) 34

¥ oF A Qe g orad & qE B0
A G o 21 ¥ Sa wiem, AR
qrEl S g HeArll # IHE T
Rryw g ¥ @ 5 & TH 21 AT S
1 o §

1 5
hod 9) —
ey 3 2 T
7 1
s 4) —
3 13 (4) 1




148.

Match the table I with table II and
select the correct response from the
options given thereafter :

(a)

Table I
Louis XVI

Table 11
(1 1792-93

149.

became the
king of France
Convocafdon gf
Estate General

(b) (i) 1804

France became (ii1) 1774
a republic, the king
was beheaded

©

(d) Nepoleon became  (iv) 1789
emperor of France
a b c d
O i i,
(2) 1,
(3)
@ v, i, 6o
Match the table I and table Il and
select the correct response from

i, iv
iv, 1,
iii, 1iv, i, 1

iv,

option given thereafter:

Table 1 Table II
(a) Montesquieu (i) Social
- Contract
(b) Rousseau (31) Mein
Kemph
(¢) Karl Marx (iii) Das Capital
(d) Adolf Hitler (iv) The Spirit
of Laws
.a b d
(1) iv, i, i, ii
2 i, i, iv, il
3 i, iv, i, 1
(4) i, iii, iv
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148.

149.

A

Ao 1 & afeer 1 & gaka @
am Ry T e 7 /@ el e @
T4T HIY

GIREI
(a) g2 XVI %d &

aifersr 11
() 1792-93

(b)

()

(d)

(1)
(2)
(&)
4

aferr 1 & it 11 & gafa

qEF T
TRE T
F EAH
S A
&1, T F

. (i) 1804

(iii) 1774

gt #1e Rar ma

Fafea |
F MED G0
a b c
i, i,
i, iv, i,
i, 1v, 1,

iv, i, i,

(iv) 1789

d

i, 1w

111
G
i

T A

o Rfaed § ¥ gl T & 9w
a‘ﬁﬁm:_

anferet 1 GUSEI
(a) HRwg () . DI BigFe
(b) =@ @ TEF
(© @ " (i) 79 SR
d) TR (iv) T fafte
feeay 3%
.a b _c¢
(1) iv, i, ii, i
@ i, i, v, i -
(3 i, iv, i, il
) i, i, i, iv "~
P.T.O.



A

150. Which of

151.

152.

the following forest
communities is wrongly matched
with the place of their living ?

(1 Sgnthals - Jharkhand
(2) Oraon ~ Nagaland
(3) Gonds —  Chhattisgarh
(4) Korava — Madras

®  Presidency

Which of the following statements

does not match the Nazi thinking ?

(1) Government should be dictatorial
be dealt with firmly.

(2) All the Jews living anywhere in
the world must be hated.

(3) Democracy axim\d international
peace should be promoted.

(4) Germans are the best race in the
world and therefore, they must
rule the whole world.

Consider the following statements .

and identify the correct response
from the options given thereafter :
Statement 1 : Over half of the
world’s total pastoralist population
lived in Africa.

Statement 2 : Masai land was
divided in two parts — the British
Kenya and German Tanganiyike

(1) Statement 1 1is false and
statement 2 is true.
(2) Statement 1 is true and

statement 2 is false.

(3) Both statement 1 and statement 2
are true and statement 2 is the
correct explanation of statement 1.

(4) Both statement 1 and statement

2 are true but statement 2 is not

.the correct explanation of
statement 1.

NTSE(Level-1) Exam. Nov. - 2015
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150. fy=ifafad § @ $9-W 39 g9 3194

w1 w@E A g TR 7

(1) g - "UEsS
2 k@ - AT
(3) Me - BUETE
() Bar - HEE Ed

1 Prebfafaa # @ @ gEE o

fomay @ e 787 @

(1) THR, TEE @TEY $ e ARy
o S FE off gaer Ay #IEd

U9 7T TMRT |

fedt off wF W w®R a|

a2

(3) weas qul S < H FgrEl
T =Ry |

(1) = g A gddw W@ B ¥
giie 9§ gRET W AmEd
AT e |

152. 99 Ru ™ FFE @ AW A © AR

am Ru u Rt ¥ R gel Rew #
g4 HIRY

gFaer - 1 fgg #it ondt |/ SR @
STarY avhreE # et ot

Iy - 2 WER YAM & WA A
fenfers a1 - Rfesr @fmEr o o
Emfsa

(1) T95% 1 Tad &, 999A 2 T 21
(2) g5 1 98 &, a9 2 T ¢

(3 A awem @@ ¥ oI awE 2
T 1 $ uE AR 6

(@) A FFE wE ¢ Ry aEmeE 2
T 1 F g8 @re T 8



153. Consider the following events related 153. 9d & '(I‘il'q A Vjﬁ
to the National Movement of India =it aewmretl & Rf¥-FagaR ged
and identify the correct chronological ¥ ae 3 FT A @ [ T A
response from the options given e mu fyaedl § SR S &1 999
thereafter : FC
(a) Chauri Chaura incident (a) S-9IT g
(b) . Rowlatt Act (b) AT Tg
(¢) Non Cooperation Movement (c) STHEAN ST=IeT
(d) Jallianwalla Bagh incident (d) SifamamwEr ar FvE
(1) a,¢, b, d (2) b,d,c,a () a,cb,d (2) b,d,c a
() d,c, b, a (4) ¢, adb (3) d,c, b, a (4) c,a,d,b

154. Match the table I with table II and 154, difoeer 1 % difess 11 @ gafea &
select the correct response from the I Re T fowedt § § gl e @
options given thereafter. AT HIfoTT |

Table I ~ Table II arferr 1 w11
(Symbols) (Meanings) (ﬁ'&\'ﬁ) (\’?Rf)
(a) Broken Chains (i) Beginning (a) §<ﬂ é%zﬁ @ 9 T H
' of the new STY
era '
(b) Crown of Oak  (ii) Being (b) ANF EL 3 () oIenE e
leaves Freed gl & A
(¢) Olive branch (i) Heroism (¢) TEAR 9T (i) €H
around the - afferg @t sm@n
sword et g
(d) Rays of rising . (iv) Willingness (d) I @ & Gv) i &0
sun to make fap ot - PLSIES
peace
a b c d a b c d
Q) i, i, i, iv QO i, i, i, iv
(2) ii, iv, i, 1 (2) i, iv, i, i
@) iv, i, i, iii . @) iv, i, i, iii
@) i, i, iv, i - @) i, i, iv, i
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155.

156.

Consider the statement given below
and select the correct explanation
from the responses given thereafter :
Statement : In 1907-08 some 300
Vietnamese went to Japan to acquire
modern education because :
(1) They wanted tg get lucrative
jobs. '
(2) To
conditions in Vietnam.
(3) "To drive
Vietnam.

avoid unstable political

out French from

(4) To enjoy modern lifestyle.

Consider the following statement and
identify the incorrect response from
the options given thereafter :

Statement : Effects of the Great
Depression on the Indian economy

were.

(1) India's export and import nearly
halved between 1928 and 1934.

(2) Wheat prices in India increased
50 percent between 1928-1934.

(3) India became an exporter of
precious metals, notably gold..

(4) Landlords and middle
salaried employees in cities found
themselves better off because of
falling prices.

class
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155.

156.

Prefafad #99 & @F @ © K oW
Ro T BEal ¥ A gl A & w9
FY :

Fo : 1907-08 § arw 300 fagarHl

sy fra o F0 § R SoE T

T HifF

1) ¥ o omEd amt AEd awd
2

@) A Pragam # werie sy |8
X S = A |

3) ¥ s & Rgaam d Feee
oEd ¥ ‘

@ 3 omgfe A FOgE A
aqed A

3 Ru T F99 F = A B R R
T e ¥ § g BE @ FE
FHiferg -
FeT - ARG ¥ SdeEEn W AR &
gqg 81

(1) 1928 & 1934 & &F ARG H
arrre-frafa s o @ T

@ 1928 ¥ 1934 3 @9 N F IW
T 50% §G T

@) TR v agelt fdwa: @
%1 frafas 39 & M@0

@) aﬁfm%s@%mﬂq%ﬁaﬁm
FErd aggelt & fRY am @ FT
s w7 A Toigd & T



157.

158.

159.

Which of the following options best

explains the sumptuary laws ?

(1) The laws that prohibited wearing
short skirts.

(2) The laws that declared that silk
clothes could not be used by
peasants.

(3) Ahe laws that controlled the
sbehaviour of the “socially
inferior”.

(4) The laws that prohibited the
socially superior class from
wearing cotton dresses.

Consider the statement given below
and select the correct response from
the responses given thereafter :
Statement : Simon Commission was
opposed by all the political patties in
India because :
(1) It was not in favour of comple
(2) independence '
It proposed the communal award
(3) ’Iﬁresisted economic reforms.
(4) It consisted of all white members.

Consider the following events related
to Print culture and identify the
correct chronological response from
the options given thercafter :

(a) Buddhist missionaries from
China introduced hand printing
technology into Japan around
768-770 AD.

(b) Gutenberg perfected the system
of Olive Press.

(¢) Marco Polo brought wood block
printing technology to Italy.

(d) The earliest kind of print
technology was developed in
China.

(1) b, C, d, a

2 /’d, a, ¢ b

3 a ¢ d b

4 b, d a e
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157.

158.

159.

M G
A FHeE & R B |

(1) 72 gof w&caan #1 9w T8 o

(2)%;8; AR QTR S
|

(3) 3§7 ¥ gurdl a1 R fear

(4) 3 gt ged A A

PO q@pfa d ddfya fefafad gemsi

FH A ¥ 9 qY B § 9% B B N

Wd gu S @E ffvmn G

Fifag -

(a) T 768-770 &. ¥ H©H @ U
A g SO § FE-ET aEHE
AEHT T

() T J Sfve-Sw # @Een #'
goe fRear ) -

(¢) T QN THS B W A GEOT B
T B I ABT ST |

(@) FIq WA TS B FET qEHAB B

°9F 7 faswE gani
() b, ¢ d, a
2)d, a ¢ b
(8) a, ¢, d, b
4 b, d a ¢



160.

161.

Consider the Statement given below
and select the correct explanation
from the responses given thereafter.

Statemnent Women workers in
Britain attacked the Spinning Jenny

because :
(1
(2
(6]

Factory owners ill-treated them.
Wages were inappropriate.

1t reduced labour demand and
they feared they would be
deprived of their jobs.

4

Working hours increased.

Consider the following statements
and identify the correct response
from the options given thereafter :

Statement I : The first Cricket Club
in India was started by the Sikhs.

Statement II : Mahatma Gandhi

condemned the Pentagular
- tournament.
(1) Statement I is false and
statement II is true.
(2) Statement I is true and

statement II is false:

(8) Both statement I and II are true
- and statement II is the correct
explanation of statement L.

@ Both statement I and statement 1I

are true but statement II is not
correct explanation of statement 1.

NTSE(Level-1) Exam. Nov. - 2015

(50)

160.

161.

Prefaflg #09 & o9 @ 9@ ol
A o m BEed ¥ ¥ @@t e @
T HRT

Fer7 : e # witen waRdl 3 R
59X euan o A\

) S 3wl I gEERR
fopa |

(2) wogd i TE

@ TEd Tl A A ge T R oR
w7 o7 5 3% derat q Fem R
QT |

(4) FM FE B v TG |

2 Ry T B BF @ © K
mmnmmmw

Feorg I : WIKd & Uea Brde aod REal
EReisil

g IT : e M Terger gHne @
arEE 41
(1) FU9 1 w4 ¢, 9 118 R

(2) T4 1 w8 B, U 11 T B

3 ﬁwé@%aﬁtaﬁuﬂll%m
I & T8 & Bl

(4) 29 T4 wE ¥

Fua 11 F9
I#aﬁa{mazgl



162. Consider the following statements
and identify the correct response
from the options given thereafter :
Statement I : The popylation_of
London expanded due to
industrialization.

Statement II : Well-off Londoners

"~ “supported the need to build houses
for poor.

(1) Statement 1 is false and
statement I is true

(2) Statement I is-. true ' and
statement II is false.

(3) Both statement I and statement
IT are true and statement II is
the correct explanation of
statement .

(4) Both statement ] and statement
IT are true but statement II is not
the correct explanation of
statement I.

163. Which is not a natural ecosystem ?
(1) Desert (2) Agquarium
(3) Forest (4) All of the above

164. Match the following :

(a) Mushroom (i) Glacier
(b) Ox Bow lake .(ii) Seawater
(c) Stecks (iii) Desert
(d) Morains - (iv) River

a b .e¢ d

D i ii, iii,  iv

(2) i, i, i iv

8) iii, iv, ii, i

4) iv, i, i, iii
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A

162. 9= Ru W w0  wm ¥ ® &
f o Reedt & & we? RFes &1 T

Fifrg

FgF-I : deq A Saen s
FT forgd &

Fgq I : @& % O T F oA
o T 3 RU W ogAm s #
SAFHA F G B | S oy

(1) FI7 1 Tod & a1 HY= 11 981 2|

(2) F4T 1 9& & qur FUF 11 T
FA 1 g &99 11 341 98 § qur

3)
- FYF 11 97 1 3 G e 21

FOA 1 a9 F9 11 A4 98 & aar
gsm'HWIQHamqﬁ
' .

163. B # @ wafe  aRReReE @
TE R ?

4

(1) "oega (2) & SHrasar
(3 (4) I9gEa @i
164. = 3 wd o2 99159 -

(2) BIF (@) TARE
(b) ofe o&f o%F  Gi) TP I
) ®Fg (i) TEEIA
(d) T (v) T

a b .e¢ d
() i, i, i, v
@ i, i, i iv
@) iii, iv, i, i
4) iv, i, ii, iii

| P.T.O.
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165.

166.

167.

168.

169.

-

(1) Malabar

What is toucans ?

(1) Name of staple food
(2) Name of a bird

(3) Name of river

(4) Name of a mountain peak

Choose the correct option of the
following in order of distance from
the sun:

(1) “Earth, Mars, Jupiter, Saturn

(2) Mars, Jupiter, Saturn, Earth

(3) Jupiter, Mars, Earth, Saturn.

(4) Mars, Earth, Saturn, Jupiter

The speed of the earth movement at
the equatoris:
(1) 1665 km/h
(2) 1680 km/h
(3) 1669 km/h
(4) 1660 km/h

Western Coast strip South of Goa is
known as:

(2) Konkan

(3) Coromandal '(4) Syhadri

Choose the correct pair :

(a) Trade wind (i) Horizontal
movement of
air
(b) Loo (ii) Seasonal
wind

(¢) Monsoon  (iii) Permanent winds
(d) Wind (iv) Local wind

a b c d
(1) i, i, i, iv

(2) iv, i, i, 1
@) iii, iv, i, 1
4) i, 1, iv, il
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165.
166.
\ 167.
A}
168.
169.

Toucans &7 & 7
(1) & SR F GEA A
(2) T T @ AW
(3) T & F M
(4) % HEa B REK # TH

B & @ o @@l %9 B g A g8 A
g AT DR W >

(1) g, 9, e, A
(2) T, gewta, 9, g
@) gewf, T, ge, afF
(4) v, g, o, gewfa

guhaﬁsng%@qtgyhﬂﬁfm
?

(1) 1665 it wfeEeT
2) 1680 faft wfeEeT
(3) 1669 fdl nicEe
(4) 1660 et afeEe

el e § dar @ kel RE A
Reg /" | AT ST & °

(1) AEER (2) HET

(3) FUHYSH (4) faesd

& g RS

(a) AWRE @ g et
SCEl e

®) T (i) Aredl gEan

(© AEEA (iif) ®E gad

(d) & (iv) @ @

(1) i, i, iii, 1iv
@) iv, i, i, 1
(8) i, iv, 1, 1
(4) i, 1, iv, 1iii



170. Which is the deepest lake of the

171.

172.

World among the following ?
(1) Victoria lake

(2) Superior lake

(3) Baikal lake

(4) Huron lake

Surface feature with, more than 700
meter height is known as :

(1) Plain (2) Mountain

(3) Plateau (4) Mound

In the given map Wild Sanctugry are
marked with abecd.
Choose the correct order.

E\°
: ﬁf

7oL

8
Kanha Kalsi
Chandraprabha
Atunagram
Chandaka
Chandraprabha
Kanha Kalsi
Chandaka
Atunagram
(a) Atunagram
(b) Chandaka,

(¢) Chandraprabha
(d) Kanha Kalsi
(8) Chandaka

(b) Chandraprabh_a
(c) Atunagram
(d) Kanha Kalsi

1) (@
®)
(©
(d)
(a)
(b)
(c)
(d)

2

3

@
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171.

A

170. 1 & @ A9 Rw ® w98 w®h

#@ae?

(1) R da

2 R dw

(3) ¥ A

OB GEE

gl F q@ .40 Fras $=E 700 9.

A & @ o i o

() T A (2) e

(3) ®R () "HE

172,

Re m wmfm & g9 ofm omamm
(Wild Sanctury) Z9fC 70 & 7€ a b ¢
d ¥ 7 P T B 1w W A g

\%w

(1) (a)
(b)
©
@
(2)
()
(c) Tw<Iehl
(d) T
(a)
(b)
(c) I=H4T
(d)-
(a)
()
(0) TEEm™
(d)

(2)

(3

(4)

P.T.O.



173.

174.

175.

176.

Choose the correct pair :
(A) Jammuna Pari (i) Sheep
(B) Jefarabadi (1) Cow
(C) Bhakherwal (i) Buffalo
(D) Tharparkar (iv) Goat
A B C D
(1) iv @i i i
(2) 1w il i i1l
3) i1 iv 1 i
(4 1 i1 v 1
Which is chief producer of silver in
the following ?
(1) Australia (2) "Mexico
(3) USA (4) France
Choose the correct pair :
(A) Veld (1) Venezuela
(B) Llanos (i) Asia
(C) Compass  (iii) Africa
(D) Steppe._ (iv) Brazil
A B C D
(i1 i i 1
(2) i i v i
3) un 1 iv 1
(4) ii 1 i1 iv

In the given map 'X' denote :

(1) Mount Isa

(2) Broken Hill

(3) Haimershley Hill
(4) Waieps Hill
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173.

174.

175.

176.

gel g9 3 ‘gf#q :

(A) TG W 9

(B) STopramal (i) Mg

(C) wFEEE (i) 39

(D) URYTEHT (iv) B

A B C D
() v i i i
(2) 1o i1 1 1
(8) i iv 1 1

(4 i i iv 1

Pt & A A 29 B § 98 @

& IEF & 7

) defm (2 AR

(3 3@ T (4) WH

78t g™ F g

A I= () T

(B) @Hd (i) T

(C) H9H (iif) TSI

(D) &dq (iv) S
A B C D

() i i @ iv

(2 i i iv i

@) i i iv il

(4) ii 1 11 iv

o mu AHRE § X Read qutar 8 7

(1) HHE gam

(2) AFT T
(3) Tsa W
(4) aEH TS
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177. Match the following : 177. 9 91 98 Bam Fiforg -
(A) Berinaag Lake (i) J&K Q) W T @) g i
(B) Malataal Lake (ii) Tamil Nadu (B) Wielara e (i)
(C) Pulkit Lake (i) Maharashtra (O TRk A (i) Terng
(D) Lonar Lake  (iv) Uttrakhand (D) MR & (iv) IaTErs
(Uttranchal) (G?Rraa)
A B C D A B C D
i i i v M i i i v
(2 i iv @i i @ i iv i i
(3) i i i iv 3 ii i i iv
@i iv #d{ i @i iv i i
178. After bifurcation  which of the 178, f=fefes =0 & ¥ P w3
following state, Telengana state come e / S5 uo e § o 2
into existence ? .
(1) Jharkhand (1) #REE
(2) Andhra Pradesh (2) ST WRr
(3) Maharashtra (3) WErms
(4) Arunachal Pradesh (4) STEIET Wy
179. Name the union territory from the 179. 9 ¥ @ 59 &% ot Ry & ot
following  which has its own g g g 2
Ass;mbly?
+ (1) Chandigarh (2) Lakshadeep (1) ¥3rme (2) Tgdg
(3) Pondicherry (4) Daman & Div (3 uifed (4) =T AR 4.
180. The word 'Left' is used for which of 180. = % ¥ R wri® @ 3 R
 the following Political Party ? ‘et st T wEnT R s & ?
(1) Bhartiya Janata Party (1) AR s=ar g
(2) Socialist Party (2) THeEr qrét
(3)” Communist Party (M) (3) AIFfard |rgear ardt
(4) Congress Party (4) FIg 9t
181. By which constitutional amendment 181. f5g dfeam d@yw & &y Wi @
two  words, 'SECULAR & seET § ‘pifade’ 7 ‘gamErr 9=
'SOCIALIST' were added in the—1 B ST Ty ?

preamble of the cons}o{tution ?
(1) 44th (2) 39th ~
(3) 42nd (4) 52nd

NTSE(Level-1) Exam. Nov. - 2015
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(3) 42df
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A

182. Which of the following statement 1s

corrett?
_ (1) Haryana, UP and Punjab have
bicameral Legislatures.

(2) UP, Bihar and Jammu &

Kashmir have bicameral
Legislatures.
(3) Jammu & Kashmir, Raja';ﬁhan

Pradesh have
bicameral Legislatures.

(4) Bihar, Tamil Nadu & Kerala
have bicameral Legislatures.

and Himachal

183. Economic growth plus change means:

(1) Sustainable development

(2) “Economic development

(3) TIncrease in national income
(4) Increase in per capita income

184. Why did the government shift its

strategy from long term to short term
programmes to
unerl\ployment ?

(1) Lack of funds

(2) Large scale corruption

remove

(3) Luke warm response from the
state governments

(4) Long term programmes takes a
long time to implement

185. What do you mean by collateral ?

(1) It is the total sum of money with
a person

©) It is things kept in the locker

@) It is guarantee given by the
borrower to the lender

&) It is the security to a lender until
the loan is repaid
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182.

183.

184.

185.

ey § @ BT F9T g8 8 7

(1)sﬁqr“n,aﬁ'<sﬁtqta¢aﬁﬁ€1
Fe e w ¥

@) st R, BER § oy FR F @
Fedg e @ ¥

(3) ﬂzﬁaﬁt,mﬁamm
¥ 3 ety Rye e gl

(4 fer, dtes @ 3@ § A w
ferr EIE € |

ot wgfs A ofted & o ®

() et (ae) B

(2) ot fae

@ T o # 3

4y i R o § gRe

@R X Aemd @ A A FE
mﬁmmﬁ%mﬁhﬂﬁ
i @ B 7

(1) B F FA
@) 3 WA W ALER :
(mwmﬁa‘hm‘ﬁ@mmﬁm

(4)WWWﬁW
o #

el FOUA & S # T € ?
() =fF & 9" gA @ A T

@ @@ ¥ @ W Tl
(3) FHEX BT FOERT E R G

(4)mmﬁa$wma%€tw
A '



186. Which of the following statement is 186. = § § F9-71 v g =R Fed
not true regarding the world trade 3 v & g 87 R ?
organization ?
(1)'It allows free trade to all (1) 78 TRt 30t | R Gl EASIES
. countries without any trade SEqTH B s CREECIRIEY &t \313‘?%
barriers, 3 21 R
. 7Tts  aim s to liberalise (2) THH SRWY FIEE FOX @
-international trade. J&X T B |
3) It establishes rules regarding @) & oUNE omik d  gafdd
l international trade. fFam g s 2
(4)'W.T.O. rules have forced the (4) WT.O. & M, SR sy #
\ developing countries to remove g 3 fou Rt 29 @ fergst
trade barriers. FC el
187. Right to choose, Right to seek - 187. T & SfER, afrgfd e &
redressal, Right to represent and A, st & s qar el
Right to be informed, are : = AR, §
(D , Fundamental rights . (1) AfvE R
(2) Consumer rights (2) U AR
(3) Fundamental duties 3) Mivs Fdeg
(4) Consumer movement (4) TUNFE R
188. A body is dropped from certain height 188. T TUH My & IW H SR AeHE
from a uniformly ascending balloon. ﬂiﬂﬁ q I g ot 21 g 3
The correct graph showing variation M G W B Uy WRadd & A%
of velocity with time for body is : 2T
D |/ o [/
@1\ (2)° }
@/ @) i 2o
(4) \ (4) § Fgte

NTSE(Level-1) Exam. Nov. - 2015
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189. A thin uniform metal rod of mass ‘m’

and length 1" standing vertically is
now allowed to fall due to its own
weight. The velocity with which its
mid-point will strike ground will be :

N ¢ —z-gl @ 5l
@ Bd @ J;}gz

Two beakers P & Q are filled to the

brim with a water at 4°C. Beaker P

is heated while Q is cooled. What is

expected in these beakers now ?

(1) Water will overflow
beakers

(2) Water level will go down in both
beakers

(3) Water will go down in P &
overflow in Q

(4) Water will go down in Q &
overflow in P '

in both

A person sees a jet plane flying from
east to west. When the plane is just
above his head, the sound of plane
appears to reach him at 60° with
horizontal. If the velocity of sound is
v, then velocity of jet plane is :.

(1 2v '

J3

(2) g ¥

.2

73

v
4) —
4) 5

3
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189.

© 190.

191.

m AR SR 1 TR WAy B
9 qael B8, @ [ sdlE @@l @,

’5
1 —
(1) 2gl

3
@) 38l @ |7

A 9T P g Q 4°C B @ A TA @
A|mmME P R owanm QA
Zugr e T E A § o geied
87 .
(1) A dF o FR A

us AfF OF S @9 & @ A 9
# o ST gU 2EW ¥| I W I
fR 3 &% o a3, @ sEd K
At @ 60° W TN g Sa ek ¥
afr =fy 99 v 8, d 9 @ @
I 8 ¢
() 2v
(2) -—?v . )
2v
(3):/?
A%
(4)-2'



192. If current through a resistance is
increased by 100% simultaneously
reducing resistance value to 25%, the
new power dissipated will be
(1) No change
(2) Increased by 100%

e (3) Decreased by 400%
(4) Increased by 400%

193. A resistance wire of uniform cross
section 1s in the form of a ring. The
two diametrically opposite points are
connected through a source of emf via
an ammeter. A conducting wire is
now connected across AB, A;B; &
then A,B, , one by one, if ammeter
reads I}, I, & I, resgectively :

1 L>1,>]; (2 L=I>I
@ L=0,L>I; 4 I;=01<]I,

194. Identify the devicevused as spherical
mirror or lens in the following cases
when the image-formed is virtual &
erect in each case :

A Object is placed between device
& its focus, image is enlarged &
behind it.

B Object placed between focus &
device image formed is'enlarged &
on the same side as that of object.

A B

(1) Convex lens Concave mirror

(2) Convex mirror Convex lens

(3) Ceneave mivror Convex lens

(4) 930ncave mirror Concave lens .
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192.

193.

194.

A

o @ gy { gafe g 100% @
& SN Ty & R @ AW geEe
25% FT AT oM, o 7 afd g7 h

(1) emfafia

(2) 100% # gha

(3) 400% Ft Fft

(4) 400% %t 3 S

T dMH R # oF SRy arw,
K T 9@ 3 A A B o
I aa fodromo W A et T
Tl TP A@F aX F ad-ardl d AB,
ABy @R 5T A,B, @ Sher wrar ¥4
i orfie #1 wegiE w1, 1, a1
&, ar:

18

IR 1
1) L>L,>1, @2 Li=L>I,
@ L=0L>I, (4 I,=01,<I,

N

Frafofes offefdl & s swm

(g oo 1 &) & veam &t o

il s% Rafy # omrel wd i &

A T T @@ IS HEE B 49
T & av |

B g BHEd B dg @l

P.T.O.
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9

195.

196.

197.

Magnetic field
A A A A 4

» Electron

-» Protcn

S
bl
A uniform magnetic field exist in the

plane of paper pointing from bottom
to top while a proton & an electron
are moving from left to right as
shown in figure. The
experienced by them will be :

(1) Outwards for both

force

(2) Tnward for electron, outward for
proton

(3) Inward for proton, outward fob
electron

“(4) Inward for both

Most of the refraction takes piac'e at
when light enter the eye.

(1) Pupil

(2) Iris

(3) Outer surface of corhea
(4) 6rjstal]ine lens

In air the speed of sound is 340 m/s.
This means that in one second :

(1) Sound source moves 340 m
(2) Listener moves 340 m
(3) Air disturban;:e moves 340 m

(4) Air moves 340 m
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195.

197.

196.

> TR

> NI

REE @ M g &8 F @
g AR A W A X e 2,

o N 7 0 a9t A @ AR
afqme &1 99 W ARG a9 8

(1) At W T H AR
(@) FAFH 9T =N, WA T AT A
Gﬁ-{ .

(3)th€raqrw,saa§‘iawrmaﬁt
iy

(4) A 9T =T H AR
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198. An aluminium sphere is dipped into

water. If B; and B, are the
buoyancies in water at 0°C and 40°C
respectively, then :

(1) B;<By
(2) B;>By
3 B;=By

(4) B; > or < B, depending upon the
radius of the sphere

Three blocks of masses m,, m, & m,
are at temperatures 0, 0, & 6,
respectively. Assuming all of same
metal & there is no loss of heat to
surroundings find the equilibrium
temp (8) if all the three are brought

in contact
(c = sp heat of metal)

1 6= m,61c+m?02c+ m,0,c
m, +m, +m,

@ 6= m,0, +m,0, +rr%393 ,
my;+m, +mgy

®) e=e, +0,+0,
3

@ 6= m,0, +m,0, + m,0,
3(m, +m, + ms)
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T AR’ B, Td By, HHA: 0°C UF 40°C
W ¥ IeAraama g,

(1) B;<By
) B;>B;»
(3) B;=By

(4 By, By & &9 A afys, o9 4
B o Bt g

m;, m, T my FME & dF Rvg
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m,8,c+m,0,c+m.0.c
(1) 9= 1¥1 2ve 3V3
m, +m, +m,

2 6= :
my +m, +mg .
®3) e:e_l"'_%:*_e_s_

m,0, +m,0, +m,0,
3(my +m, +my)

4) 6=

P.T. O.
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200. A body of mass 2 kg is free to move

along x-axis. It is at rest at t = 0.
From t = 0 onwards it is subjected to
a time-dependent force F(t) in
x-direction. The variation of F with
time is as shown : '

F (l)q\
4N+

The change in momentum during
journey is (in N-s) :

(1) 4.50 (2) 7.50

" (3) 5.06 (4) 14.06

(62)

200. 2 kg I T TG x-I 3 IRY T

%maﬁa%lc=oqrqsmﬂﬁ
ff qu 3@ W @ wE ERG 59
Fo), x o & ofa & F & g B
a1 oRada e § R T R

v

F (04
4N

4.5sec o
E /t

P 3S.e\i

qE B ém:« gop % ufEdw W
(N-s ®) :
(1) 4.50
(3) 5.06

(2) 7.50
(4) 14.06
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Answers to questions inanswer sheet are to be given
by darkening complete circle using Black/Blue ball point

pen as shown below :
o e O @

The answer will be treated wrong, if it is marked, as
given below:

@ ® © ©

If you fill more than one circle it will be treated as a
wrong answer.:

. Rough work should be done only in the space provided
L

in the Test Booklet for the same.

. The answers aré to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to
be changed.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/Answer Sheet in the Attendance Sheet.

Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Each candicfate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

Use of Electronic/Manual Calculator is prohibited.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.

Since the time allotted to the three parts of this question-
paper is very limited, you should make the best use of it
by not spending too much time on any question.




